Il IilWlllllillﬂlllll?llﬂll‘lIlllﬁlﬂ fuii

Fd e |
4/2018 (1) (E10) v, whFd fg;q-‘ (B) Errrfg 2 7
1. Allcircles are (A)l%ﬁ( (D) L2 )
(A) congruent (B) similaf D 7 e STl
sl ese (O wifsrd
(P Cyclic ) none ol !l 2 uﬁ/x'”— _apAx g fa
2. If x2 — x — 42 is divided by ¥ * 6 ihe i&?ﬂ ‘-ﬁq‘ﬁaﬁ (B) -6
remainder will be (A) 7 (D) g:{ﬁ] 2?! E-ﬁé :ﬁ'ﬁ
(A) 7 (B) -6 {these (©) 0 -
&0 (D) noneo® = o, (S
nate| 3 i e 1Y
3. Recrystallisation of sodium carbo 3
?:)’ESBakin da (A) T 1:‘?—31
\/('Bmashﬁw;c;oda (B) ﬁr«anmg[m
(C) Bleaching powder (g) = qF
(D) Plaster of paris (D) i |
N Cl pISE Feadl
4. The combination of certain Janapada wWere 4. F9Y i
called as r (A) I[g‘a (B) Sl
(A) Mandal (B District S
(C) Gana (D) Hobali (C) ™ ©)
- 3 : Rt faam el |
5. Read the following descriptions about types 5 W%ﬂcﬁl‘laﬁaﬁﬁ + deed
of biomes. 1 =fgo s &1 9™ yiwar dts
1. Grasslands of South Africa are called HEeTd ¢ | .
i o, 38 anfe & ara i SEE
2. Grasslands of North America are Feral & |
called Pratics. 3. 3 2l Tien e =T o aEm
3. These both are temperate grasslands 3
biome. I
Select the right answer given below. il o e w5 gi T |
(A) 2only (B) 1only (A) Fad 2 (B) e 1
(C) 3only \_,paj’"/mf the above (C) &ad 3 (D) JIaa @i
6. Mahabharatha has Chaplers. 6. HEWHd H JALGE B |
18 (B) 20 (A) 18 (B) 20
(C) 22 (D) 24 (C) 22 (D) 24
7. Find the missing term (?) from the options 7. MN,JQ,GT,? AZ, XC%@Q‘H‘R (?)ﬁ?ﬁﬁi
for MN, JQ, GT, ?, AZ, XC. 8 14 |
(A) EW B W (A) EW (B) DW
(C) EX (D) DX (C) EX (D) DX
2.
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R

g The equation 3x—y = 5 is same as

9.\:-——3y+C:‘0ilc: ’/f”)
(A) 15 L - 15
(C) —-10 (D) none of these

9. The eldest son of Pandavas is
(A) Bahudhanyaka
(87 Yudhishthira
(C) Priotpathi
(D) Angeerasa

10. If 1= October was Monday, then 11" October

lies_on'“
\w(A) Thursday
(C) Wednesday

(B) Friday
(D) Monday

Consider the following statements regarding

Himalayan mountains and its rivers and

select the right one.

(A) The Himalayan mountains are young,
weak and flexible in their geological

11.

structure
(B) Himalayas are dissected by fast-
flowing rivers which are in their

youthful stage
(C) Both are wrong
JPr Both are right

12. The point on x-axis which is equidistant from

the point (7, 6) and (= 3, 4) i
(A) (-1.0) Ua)/(; 0)
(C) (-4.0) (D) (3,0)

13. The age of father is 5 times that of his son.
3 years ago, the age of father was 8 times
that of his son. Find the present age of
father.

(A) 42 years
(B) 48 years

(C) 40years
\Wears

3=

10.

1

&

13.

4/2018 (1) (E10) vl
5, 9x-—3y+°=°%‘3‘fﬂ

Y=

"

e \//:5

a ¢ Bt

b @) ¥ A

(©) ’10«1@"?

quaiiﬂw

LY

(B) of f

(C) ffﬂm

@ I @ SRR

afe 1

/‘W @® T

(A) tfﬂfﬂ ()

©) % i o

da I ekl e

feaTerd o mﬁﬁgﬁﬁﬁﬂﬁl

Freafer S afi7 3TaAl

() fere il @’ 3
e e A S

- W@—a@‘a@qﬁﬁﬁm—m
et 1 g A E

(©) aiTe

(D) S & ®

x-gﬂma—sﬁgshﬁsw.s)aﬁt(—s.@

JEAHA g TR ’
(A) (-1.0) ,(.B)/(j?,O)/ '
(C) (-4.0) (D) (3,0) ]

frer 61 31T A <P TG 1 9 AT | 3=
uﬁﬁmsﬁanggaﬁmmaﬂmaﬁ | @
e <Y AT 3 R -
(A) 42T¥
(B) 48ad
(C) 40ad
(D) 3549
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. g8t ¢
C 4 (o 3
1
& oy ' are joined
4 cubes each of gige 5 ¢M i
nq o end. The sSurface 1!0'10“”9 i
d s ‘ l
(A) 225 cm?
®) 20cm
W450 cm
(D) 500 cme®
16, .
Which of the following form an AP s
A) 1,42 2,33 ...
(B) o3 0.33,0.333, . . .
© 111
\-3557’52‘ -
V2, V8, 18,433, ...
17- Ty
]f 3 mEanS -___I. (L means lx" 'x' means I+.
and '+ means ‘4 then, 12x4+12+5-3=
(A) 4 (B) 15

(C) 30 M

Indori river rises near

A) I
it T
et

19.

(B) Kaithal
(D) Karnal

One of the South Asias oldest road in
Haryana is

(A) Hundred Feet Road
(B) M.G. Road

(C) Main Tank Bund Road

\y)/Gr/a?ud Trunk Road

If the area of a semi circular field is

14" whomom ®

|V PO TR
q&A Afyivferss w5

PRI
(A) 5 (B) 6
(C) 4 (D) 3

5 1,11, aan Al T AT U H4 1S
o 1 o) 2v e Eee 2

(A) 225cm?

(B) 20cm’

(C) 450 cm?

(D) 500 cm?

e 7

16. Frefofad § & AF-11 0 gHE Ao e
(A) 1,1,2,2,33, ...
(B) 0.3,0.33,0.333,. ..

© -

15.

1
|8|--

Ei
(D) 2,48.418.432,...

17, R aER L, o o b, I
sl o e vy, 12x4+12+5-3=

PN

20.
30800 sg.m. then the perimeter of the
field is (use ien 2%)
(A) 240m 720m
(C) 460m (D) 840m
Q
N\

(A) 4 (B) 15
(C) 30 (D) ©
/1? i mIeE_ FEed
= (A) =N (B) e
(C) Tar (D) =TT
19, zferorufirn = wreian gEH H ° T g
i 2 | .
(A) BT
(B) wH.Sf. TS
(C) T 3F @3 U
(D) TS 3% s
72 U HgERR Wd F SAEA
30800 a . Hi. & dl W ) gfmmy
(n=2%gvﬂnﬁ) ‘
(A) 240m (B) 720m
(C) 460 m (D) 840m
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Wy
2 SRRy

T'[ » Fir 3
o f Nancig) Budgget tor 2017 - 18 was

t I ]
abled by Haryang §nance Minister
(A) -\‘.f\h;ll\;“;‘ Kaltal

_(B) Captain Ahhimanyu
() \'vnk.w\-;m Nadu
(o \,-hid.]ml\;“‘un

22

'E.\\‘
(A)
8)

Culive Dpp;umwnl 15 fod by

Chiet Minister
\‘
LAVaMYY

(C) Home Ministor

™y =y -
\t FINAance Ministe!
23,

Nomal range ot breathing rate per minute
N ’DAVErage adult person at rest is

¥ 9-12
(B) 15-18

5
) 2124

(C
(D) 3033

24. Following is the function of stomata

(A) Translocation
\_4BY Exchange of gases
(C) Protein synthesis

(D) Reproduction

25. InIndia the first State to introduce Mid-day
meals in schools is

(A) Himachal Pradesh

(B) Meghalaya

UMmil Nadu

(D) Punjab

26. Solutions of the equation x° +V2x-4=0
are

(A 2,42

M.*Q\[g

(C) 0,4
(D) 0,0

-5-

21.

N\

L]
*J
—

23.

24.

25.

26.

4/2018 (1) (E10)
v i To10 et wrare e & fas
o0t ™ AT e T T e
! e s
(N g b
() FLRIEINES
O fréas
(-

foam wr Ager g R

}|-|?i'"‘ilr1'
(A) et
{11‘ mﬂ[}n

‘B: fet AT

(

fmmnﬁ'ﬂ 0 U s aeper i 9 748
£ firre wT= Tifg @

(C) 2
() 3
et T < = &

(A) 'l:..

@) il 1 b

(©) W T

() T

T A TR Wist feranetrdt # Y& & Jret
RIS PER

(B) TS

(©) AT

(D) TSIt

THFO %2 + Y2 X -4 =0 F ol &
A 2,42
B) V2,-22

C) 0,4
D) 0,0

0-33
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Which of the 1oj1owing s'at?r:;",:s 'S
'ncorect about Fyngame™ 9 these
\ (AY New‘echnologies ma}.endanger
rights N
Equality is onaoitha moraland pthlcal
ideals in India they 4@ superior to
ordinary laws .

(C) In India these are ecONomic and
political rights integral part of the
Constitution

InIndia it jg rightly described as Magna
Carta of Ingig

(8)

(D)

28. Read the following sentences about LEDs

and choose a Correct option.
(A) They contain mercury
\f,/' l_:i'he}' CoOnsume less electricity because
they produce very less heat
(C) Both (A) ang (B) are correct
(D) Both (A) ang (B) are wrong

28.  Mahila Police Volunteersystemis introduced

in two Districts. One in
(A) Panipath
Karnal
(C) Kurukshetra
(D) Ambala

30. If‘SUN’ can be coded as ‘54’ then ‘MOON'

can be coded as
(A) 58 (B) 51
57 (D) 47

31. During 1857, Sepoy mutiny the Moghul

emperor Bahadurshah Zafar was arrested
by

Main Hudson
(B) John Nicholson
(C) Sir Hugh Rose
(D) Colin Campbell

27.

28.

29.

30.

(UL R EARTE YA DR
wifer srfusrd 3 an A FEfafad § 3
FT-T1 o FEE R ?
(A) T8 T 39 ot 6 [0 Ga
Tl 2 |
(B) Wwa H dHIA UH %{{—‘a—qm: aflt m
(C) v # & ks i T SAHUFR
2 < g = sfrd W R |

(D) T i R R 3 frree] F F9H AR

gl e 8 |

sl 3 g A Frafufea FoA wiew R
o
g
Eg; ?inﬁgaﬁ@qawﬁﬂv%?ﬁﬁﬁa
A FHH FHT IqH FLdl ©
(C) (A) 3R (B)aHI H&l 2
(D) (A) 3R (B) T TTeTa 2

nfeet gfcrs @ Has yomeh & Rl 3 IF
HIMRR | TH B

(A) uHTd

(B) A

(C) Fea

(D) Harel

M 'SUN' 1 %2 '54' & & "MOON' =T ET
B

(A) 58 (B) 51

(C) 57 (D) 47
1357%%%%%3#%%%
TRIGRIE SR A 2701 o vy vy |
(A) = e

(B) S ferieam

C) WA=

(D) HifeH Fuae




| LT
- Find the Miss; i
INg number in the sequy
1.8,?2,64, 125 55 A
(A) o s 27
(€) 25 (D) 16
33. Thed

| ance performed by women in
bridegrooms hoyse is

(A) Rasleela

(B) Phag dance

(C) Loor dance
\__(D)" Khoria dance

34. Match the Plant structures given in the

Column — A with functions given in the
Column - B,
Column - A Column-B
I. Stomata 1. Absorption of
water
Il. Xylem 2. Transpiration
lll. Root hairs 3. Transport of
| food
IV. Phloem 4. Transport of
water
5. Synthesis of
carbohydrates

L‘S;IE}H.be\answer code.
-2, 11-4,11-1,IV-3
(B) 1=1,11—4,11=3,1V—2

C) I=-1,11-41-21V-3
(D) 1=-510=-3,Il-1,1V-2

35. Harshavardhana ruled Thaneswar during

M: 647 AD  (B) 400 — 350 BC

(C) 200—250AD (D) 250- 150 BC

36. State flower of Haryana is
(A) Jasmine
Sacred Lotus
(C) Rose
(D) Hibiscus

33.

34.

35.

36.

- d m
41,8.7.6% 1?_5,216:”4‘@‘?‘?’!1?""T
g
o ®) 27
(A 35 (D) 16
(C) i
 p oA ﬁ1xﬁim%maﬂaﬁlaﬂ%
) T
© &
D) afen 7

W_Aﬁﬁqmqﬁﬁﬁﬁm@lﬁaﬂﬂa
i Frd ° e |

1 feu i 5
HITH —
e~ A
; 1. FATEINE
|, W™ P
Il. W\Q a'rctﬂ?ash
o, FTC 3. M
’:,x.\‘\" LIECEE|
" Wr-/ 4. S giEE
5. FEEESE Fl
Y]
I 2 I, |

HAY 1=-2,11-4,11=1,1V-37

B) I-1,11—4,11-3,1IV-2
(©) 1=1,11=4,11-2,IV -3
(D) 1=51=3,1ll-1,1V-2

YA 3 AHTR T % SN TITEA
o |

(A) 606 - 647 AD
(C) 200 - 250 AD

=T =t e e R
(A) I
(B) A
(C) Tod
(D) TS&

(B) 400 - 350 BC
(D) 250 — 150 BC
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42018 (1) (E10)
37. PREW means

\_(a)

(B)
(©)
(D)

Fopulation Rogulatio® Engineering

Wing

Panchayath Raj Economic Wing
Panchayath Raj Engn®?!"a Wing
Power Rules Effective WIN9

3 . - : |
8. Which among the followind cities in which

British COmpany agents seltled in first ?
(A) Kolkata i () Bombay
_(©) “"Madrag (D) Kocchi

39.
9. Haryana has __Dislricts as on
2017 - 1g. -
\_(A) 22 (B) 25
(C) 24 (D) 28
4 i .
0 Whlch of the following rivers is not a
tributary of Brahmaputra ?
(A) Kfameng (B) Subansiri
(C) Dihang \(D}—Subarnarekha
41,

Following is not a part of neuron.
Collecting duct

(B) Dendrite

(C) Cell body

(D) Nucleus

42. Readthe following statements and choose

AT

PREW @ a19 @
Population Regulations Engineering

Wing

Panchayath Raj Economic Wing
Panchayalh Raj Engineering Wing
Power Rules Effective Wing

&

)

(B)

(C)

(D)

Pl ] ) B

38 ) it i 2 Fre g i frfes A 36 vsie
el s araerud gu 7

(A) RIeTeRTl (B) wfral
(C) wa™ (D) =l
30, wRammiizot7-18w @@
(A) 22 (B) 25
(C) 24 (D) 28

(/4}\. fr=rferfiaa 3 & FH-€ 42 s S gewE
— TR ?
(A) rin (8) gomfad
(c) ferm (D) FevitaE!
417 Fr=afafaa dfe = uw ymad R
(A) EmEy arfeh
(B) TR _
(C) =R frma
(D) =

42! Frafafad Fu @ ufge ok swEa gho |

the appropriate one.

(A) Indiahasthe largest number of medical
colleges in the world.

India is the fourth largest producer of
medicines in the world and is also a
large exporter of medicines.

(C) Both (A) and (B) are wrong

\_A4P7 Both (A) and (B) are right

(B)

43. Kapidhvaja is another name for
(A) Krishna (B) Balram
Arjuna (D) Kamna

(A) Y ° fava & gaifes ifews Few
B

(B) "d fava o zanaii 1 e w=@ =
IeqTeeh 3R U sre1 Fafas @

(C) (A) 3R (B) T TTerd &

(D) (A) 3 (B) 21 &l &

a3] Eﬁﬁt_cﬁ-]___“w@ﬂm%l
(A) F (B) e
(C) 3wl (D) vl
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46.

45.

34, A gmall, palm held drum is called as

(A) Dolak (B) Mrudangam

(C) Tabla L (BY Damru

Find the word which is differemt from the
other 3 options given below,

(A) Nepal (B) Bhutan
(C) Pakistan (O Manipura

Altat Hussain Haali is famous for his
(A) Dohe (B) Sonnet
\__(C)~ Poelry (D) Mushairas

47.  Twocoins are tossed simultaneously. The

probability of getting exactly two tail is
(A) 1 (B) %
© Y% o) Y,

48. Tangririver is the tributary of
(A) Sahibi (B) Indori

\_{€J Markanda (D) Ghaggar
49.

50.

\_tey Coal

51.

Resistance of a metal wire of length 1 m
is 26 Q at 20°C. If the diameter of wire is
0.3 mm, what will be the resistivity of the
metal at that temperature ?
(A) 4.84 x 10" Om
(B) 3.84 x 10°5 Om
(C) 2.84 x 1075 Om

1.84 x 10-° Om

Which of the following natural resources is
referred as 'buried sunshine’ ?

(A) Gold (B) Silver
(D) Shale gas

ina—-3cosa .
If 5 tana = 4 then el = is

5sina+2cosa

equal to
A < ® >
©) 2 ©) o

-9-

4/2018 (1) (E10)

Aﬁ@-ammaﬁmmgn_____
aa. wﬂﬁﬂf‘: :
aettdl (B
(A) aﬁf‘f JIIREAT
©) @& ,F'iahf’f".”“-mﬂﬁmﬁ:‘% [
45. €0 yEd (B) CGIR |
(A) A fi
i (D) |
© o @ whmahw
46, AHE (B) @
(A) e (D) HEIPA
©
2 | 21 97" A
a7/ 3 W@mﬂwgm i,
' £ g
T FE
(A) 1 o yz

(©) % (D) %1
: TEEs A |

a8/ ?E)rﬁ_’,,__iﬁﬁ T
oy AT (D) T

49! 1rﬁ,;iaﬁaa@q@%ﬁﬁﬂamrﬁrﬂazp°c
mzsn%mﬁmmmo.aﬁ.ﬁi.%?ﬁ
mwmm?ﬁgﬁfﬂﬁmwﬁrﬁ?
(A) 4.84x10°°Qm
(B) 3.84x10° Qm
(C) 2.84x 1076 Qm
(D) 1.84x10°°Qm

50.° frfeifian # & fora gl dia A el 18
v Fa ® 7 _'
(A) T (B) =
(C) e (D) ¥t g

ra ing —
51. 2R 5tana = 4 23N -3cosa
S5sina +2cosq

T B

il 5
(A) 8 (B) .
C) 2 (D) 0
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_ned on the banks of

@ Ganga
0 Kaven

S3. Under GST which ol following goods or
items are 0;emptedf’ NIL tax rate or 0%

is Ch.‘]rged o

1. News papers
2. Kunkum ang Bind'
3. Processeq Frutand vegetables
3. Silk worm gng knadi yarn
S. SDaCecraf(
(A) 1,3and 4
(B) 1,2,3ang4
(C) 1. 2. -1 and 5
(D) All the above
54. —— IS a non-metal but it is lustrous.
(A)  Flourine (8) Chlorine
(C) Bromine (D) lodine
S5.  Which among the following countries with

which India does not have Free Trade
Agreement (FTA) 2
(A) South Korea
(B) Japan

(C) Brazil

(D) Thailand

56. Jagirdars means
(A) Bankers

(B) Landlords
(C) Agriculturists

(D) Businessmen

Sal trees are found in
(A) Gurgaon forests
(B) Sonipat forests
(C) Rohtak forests

/;;7 __._Wmmgq%ﬁmzm% [

(0 O DL EIN D ELE R ER R
2. ARmwad 34 F AT well-Fedl 2 |

(A) mrEdl (8) M
(C) Ay (D) Fh

53. Fsfefaa IR PA-JgmA 7192 GST % A
w2 Wi & A1 I # Z aA 0% warfa 7

TuTEr 9=

s i

Yym #e 3N @) umm

5. JFANEd™

(A) 1,334

(B) 1,2,33R4

(C) 1,2,435

(D) 3a &l

i N

@) =i
(D)

(A) wIH

(C) FHH
55. fr=ifeiftaa 3 & form 2w & @19 9Rd 1 954

SR I &l & 7

(A) <féo i

(B) M

(C) T

(D) UrgeiE

Arfier &1 39 2
(A) &=

(B) wHieR

(C) .F9=

(D) FRER

|1 g4

(A) TS & 51
(B) HHIud & =9
(C) Ueds & 31

56.

57 % a1q e £ |

(D) Kalesar forests

(D) FAE F a4
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59.

60.

61.

62.

LB

Find the number which not like the other

3 oplions.
2/ 3/
(A) 714 (B) ,/12
5/
©) Y50 o 7

/28

A number consists of 2 digits whose sum i
4_11 18 1s added to the number, the digits
get interchanged. Then the number is

(A) 31

(B) 22

(C) 13

(D) none of these

Campaign against female foeticide is
called

(A) Yatra Scheme

(B) Bhagya Jyothi

(C) Beti Bachao, Beti Padhao
(D) Lady Police Scheme

Consider the following statements with
reference to Constitution Amendment Bills.

1. It can be introduced by the private
Members of the Parliament.

2. The President cannot disagree over

it, he can only send it back once for
reconsideration.

Which of the above is /are correct ?
(A) 1only

(B) 2only

(C) None

(D) Both1and?2

The famous Patriotic song, which stirred the
common people of their nationalism during
freedom movement, “Sare Jahan Se Achha
Hindustan Hamara" was written by

(A) Mirza Galib

(B) Mohammad Igbal

(C) Rabindranath Tagore

(D) Sadaat Hasan Manto

58.

59.

60.

61.

62.

-11-

4/2018 (1) (E10)
i o R ) g f A B
i el

®)
A %A A?

7

5/20 D) /28
. / e ® S g a2 | afe @
Uk N ey R SR e S
LRLRLINTEE: (T
B et A C

(A) 31

(B) 22

(C) 13 |

o) AT

s | 10 U1 K A

S— E’%ﬁm ¥ faeg At
FEeATd € |

(A) T A

(B) W3

(D) wfen gf@ T
@ﬁwmmﬁm%mﬁﬁﬁﬂﬁ%ﬂ
o o R | |

R e AT Ik EUUSIBIISEL

2 .
2. T TE T STEEHT Té & Jehdl, e
fem  fore e R |

IRAYPA-TMTA R ?

(A) a1

(B) Had 2

(C) =I§ e

(D) 1323

AT AT % QITH 3T 54 Tl TLETE
HISAT § W3 e widg, sowifad nfd ‘o
Sl | oo fegeam s A
@ mn

(A) Tt miers

(B) TIEHE 3haTd

(C) Uamsmy 3R

(D) ETEd TG W

(C)
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GJ.

64,

65.

66.

67.

68.

mial
It=3is a 2010 of PO e alue of ais
P (X) = 2%* , 3x ,mmon value ol a1s
= RV
(A) 2 (B) Tl
(C) o o) 3

The solutions of c_;ys“‘-m ol equations
V2 x4 JBy =0, Jox! J15y - 0 are
W x o,y b

B) x=0,y-1

(C) no solution

(D) infinite solutions

Haryana Assembly House is at

(A) Rohtak (B) Ambala

(C) Chandigarh (D) Panipat

When object is placed at center of curvature

of a concave mirror, the image size is

(A) Enlarged

(B) Diminished

(C) Same size as that of object

(D) Point-sizeq

Which of the following is not a right

difference between democratic and other

forms of Government ?

(A) In Non-democratic States don't not
require all citizens to take part in
politics.

(B) Both forms have universal adult
franchisee, i.e., one vote and one
value.

(C) Most non-democratic Governments
would like citizens not to take part in
politics.

(D) Democracy depends on active political
participation by all the citizens.

The zoo had some Lions and some Parrots.

The keeper counted 15 heads and 50 legs,
then the number of Lions is
(A) 9 (B) 10

(SRR 0

[~ ! l
67, ufe amudld p (x) = 2% + 3x — 3a o UF 77

_adda® AR
(A) 2

(C) O

64./ J2x4J5y - 0,6
o) i) B BA R
(A) x=v2, y=45

(B) x=0,y=1

(C) r$ el el

(D) 3Fid Bl

65. i faam A ﬁ.% l
(A) TgdH (B) AATAl
(C) =EIm (D)

maﬁm@maaaﬁwﬁim?ﬁ“
T < 2 4l ulefee o1 IR @

(A) aftdd

(B) =1 gl

(C) = % dAT €

(D) faIg % AR F

57,/ frferfiad i & FH-T1 ATl S FEHT

¥ a7 w91 3 o= & AR @

(A) TR-erehaifie Tt §, T J | .
o gl i % fore e TR

(B) =i =i A wriifiys Tueh TAas
41 T A Teh HH @ | |

(C) watfirh srefiaritys atehtt =medt & & |
AT eHifa J wfawfiEr 3 = )

(D) wrerc @ iR Z wf TR

| -1
(D) 3

x‘\ﬁgy:__omﬁzmm

66.

[

68. T fufeamen # g IR iR did & | v
1 15 i 3R 50 21 Rt | 91 ) S 2

(A) 9 (B) 10

(C) 8 (D) none of these

© 8 (D) ¥ & = 7
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Fill up the blanks W

69.

Change the given sentence into indirect

speech.

71.

72.

Ellgllﬂhql-ungungo

ith approprial® prepositions.

| prefer tea collee.

(A)
(B)
(C) to
(0)

against

not

than

Qur flatis the second floor of the

building.
(A) In
(B) by
(C) at
(D) on

| said to the boys, “You should do your

duty”.

(A) | said to the boys that you should do
their duty.

(B) Itold the boys thatthey should do their

duty.
(C) |toldthe boys thatyou should do your
duty.
(D) | ordered the boys that they should do
your duty. .

The teacher said, “l am busy now”.

(A) The teacher said that he was busy
then

(B) The teacher says that he 1s busy
now

(C) He was busy says the teacher now.

(D) The teacher told that | was busy now.

412018 (1) (E10)

w.«ord.

02!

Pick out the wrond?

73.

74,

Choose the c

75,

76.

(A)
(B)
(C)
(D)

(A)
(B)
(C)

Reticen
Pedant®
I|rrmrwil‘3"‘J
Plenary

arafl
Intermiti®
Intrinsic
uov’
Incondf >

(D) Impurtu®

orrectGP’-ions'

| notified _—— | had changed my
notifie

address.

(A) that

(B) tothe ban« that

(C) with the bank that

(D) the bank iat

| decided to stay at home last night. | would

have gone out if| so tired.
(A) wouldn't have been

(B) hadn't been

(C) wasn't

(D) weren't

Choose the correct form of the verbs.

f 7 &

78.

-13-

Tom ____ his hand when he was cooking
the dinner.

(A) is burning

(B) have burnt

(C) was burning

(D) burnt

There is a programme on television that
| want to watch. in five minutes.
(A) It start

(B) It must start

(C) Itstars

(D) ltis starting
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# o
81 Ms-xll-‘@aaﬁé'

WA b e e T R )
(A Yrgs;

- B) @
L) Ny (D) JeTh
82, t E . "o r
T AU = iy -4 T R ?
(A) g (B) eeqey
(€)1 g (D) =g
B3, 'wem’ wise ¥ o o) ament @va-m e
ST @ ¢
(A) = (B) 31
€ R (D) 39

84. ' Y R 1 werr ger 1 oref 2
(A 3w iy ara

(B) Frawm 3 sy A wers

(C) whrgret wri s

(D) <Tenahl @ &1 &

BS. Wl At wepet 0 stl) ) g AT & CAr

e A iy dfm

(A apgakn fn, s aqpen, Adue aqe, ws
e, eNiem

(B) st T, and Ao, 108 sy,
ik, eperet, =A1fém

(C) ke, f.,i';uﬁl, ot AT, AT 7o , U
e, w=hfem

(D) wertleh front, & apem, ufaumq s,
U e, FHifen

86. Siel foel e o Avi are e = ooy w1,
= -1 Seih Thar 2 7

(A) =rsRifert (B) 37

(C) eIy (D) =fasrif
87. ‘A yrex o wga=A w9 B

(A) 2 (B) erdid

(C) ardyan (D) i

88. ‘Hi s =\ gu fUerell ¥' 3@ qmaw &) = T
H forfay
(A) W18 F=a %l 3y Nerrf s 2 |
(B) HI & w=a i gy femf e |
(C) =1 ==2 = gy Tyeman | -
(D) =i A == = gy femn s 2 | /

89 Frerferaa § @ 9l adh =1 s S |
(A) ufdeafy (B) uia=ifg
(C) wiwefify (D) ufrefify

90. % T &I ST e -y & 7

(A) T (B) ¥
(C) shiy (D) wg
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